magmss%mmﬁqmm’-’t R
o &1 &4 etatEd § 4 6 s
27 N ‘
(1) [Fe@)NOR
(2) [Fe(CN);NOSI*
(3) [Fe(SCN)*-
(4) Fe,[Fe(CN)J], =
weiffEn F9A § TERRE W=
T A TR FEIRAR Y
(1) =W 3w @ g o1

A E |
(2) ®= w afems 1;4

A TR E |
(3) I T H

R :

Ezcif AT
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.

10.

11.

srferfin wvertest § ¥ w ate & =y
i

(1 @) rx

(3) W@ (4) wiforw
A1t R o sl & smam o wee fs
Prafirfien § & & ot Ae s

w e oo P wfteiem
weffn st k¢

fa €0, | 50, [ CH, TH,

MK 304 1
: 630 | 190 | 33

(1) SO, @ CH,
3) M, @ co,

WU T gR & W W A e %
B e Sk SR e

(1) WEEST IR

(2)  wTEEERR ST

(3) WERY AIEEHIER

(4) wafs e
ﬁmiaﬁ&miﬁﬁaﬁtfth

(1) Rfvcwws Q) Wew

8) wEEEE @) R
P

aﬁmﬁmhﬁﬁmt ?
(1) 45-60 (2) 5.0-6.0
(3) 3.5-40 (4 6.0-80

Tz W ouw WY e @

EEt8 108 3
(1) e

(2) Bacdlm .

Which of the following colloids 18
known as a sol ?

(1) Milk (2) Cheese

(3 Cloud 44)  Cell fluid
On the basis of data given below,
predict which of the following
gases shows least adsorption on a

definite amount of charcoal ?
(Gas €0,[80, [cH,
630

Critical
temperature/K| 304
(1) 80, (2) CH,

(3) Hy 4) €O,

Own microflora carried by food
materials is termed as

(1) Processing microflora

(2) Phyllosphere microflora

(3) Storage microflora

" (4) Internal microflora

Gram-positive, endospore-forming
rods are produced on :
(1) Staphylococcus




FaafEad _
e % for @A A R |
(2) T IEEA 1 T A 37°CR |

(3) waEAE |
(4) o e e A AR A 2 |

15. U= dre &1 A ¥ w9 4 fpan
IR | |
(1) #E (Beer) e ¥ fau o= |
fepoa (T op-Fermenting)‘@fR |
(2) arEd Iced ¥ fu fe-TEHueA

(Bottom-Fermenting) Lt
3 #m e s R |
(Bottom-Fermenting) et
(4) aa (Wine) A & i
fapoar (Top-Fermenting)utﬁ'{ -




18l

19.

20.

21.

22.

23.

24.

Frfefign @ @ v frfvas gamen 2
(1) e (2) fet

(3) sm-wm  (4) FESA
“ARuMTAAETEE” B fufa w5
ey uee e o | fpes wrar s 2 7
(1) W9 FOTTEE AT

(2) S

(3) Fa®

(4) T AT A=
Wﬂ'ﬁ'ﬁmt:

(1) s Hea - 9. gafefem
(2) \EEEATEE - UH. IR iE
(3) FIER - . Ta

(4) FEATEE - &t =

@# T (Sauerkraut) ¥ favaa & 1

Tieft % W1 1 ITENT HA AT ARHE
AfFess vfte AaifE & 7

(1) SFHES FHZAEEE

(2) UfzsaEEe EEEy

(3) ¥H AHIE TE

(4) SAFHTE SEH

T T 9 Y % WRAih $eA Hl
s 1

(1) 35-40 (2) 50-55

(3) 75—80 (4) 10-18
e 1 Ao ffifen sréddess =
(Repeating diasaccheride unit) 2 :
(1) #=iEmEmE (Cellobiose)

(2) weeE (Maltose)

(3) 2@mgE (Dextrose)

(4) S#igA (Dextrin)

dia % I % fo form mewgz #
35 fF S 2 2

(1y mE® (@) FE

(3) =i (4) TEHIT

v 18.

19.

20.

21,

22,

(3) 75-80

On of the following is & fermente
condiment :

1) Kombucha (2) Miso

(3) Angkhak (4) Idii

“Llpopolysacchande is a major
component of cell wall in :

(1) Gram Negative Bacteria

(2) Parasites

(3) Fungus

(4) Gram Positive Bacteria

The incorrect pair of food borne
illness and its causative micro-
organism is:

(1) Peptic ulcers — B. subtilis
(2) Salmonellosis — — S. typhimurium
(3) Q fever— C. burnetti

(4) Brucellosis — B. abortus

Initial Lactic acid bacteria
utilizing sugars of cabbage in
Sauerkraut fermentation is :

(1) Lauconostoc mesenteroides
(2) Pediococcus pentosaceus

(3) None of these

(4) Lactobacillus Plantarum
The glycemic index of full-fat,
whole milk isiﬁthé range of :

(1) 35-40 (20 50-556
(4) 10 o
presentm ce]lulu#e“lﬁ- e




26.

27.

28.

29,

30.

ﬁﬂw i @ # w AeEEEe @Y

quﬁéﬁﬁﬂﬂt?
(1) gl (2) Ve
@) onfifw  (4) JHRE

Prafafe o @ @ | G HEEAD

841 uftre a1 wiafafire @ @ 7

(1) ferfer ot Rt

@) wrafe ik snfes

(3) wiftfees 3t Wi

(4) fomfeores st mfafes

v @ e (e R AT H

AR

(1) o & il Sk T B
o1 giEE |

(2)
1 qiEed |

(3)

qREE |

31fa B FHT S @ RCTAUES

giEEd |

frafas H wH A RTR ;
(1) Teredd (2) Uemn
(3) @@l (4) wfedh

fefmdmatrasrg

(1) 25-@EeEd HethedEid (26
OH cholecalciferol)

(2) edgrEE (Calcitriol)

(3) undhedIwe (Ergocalciferol)

(4) HieidedHia (Cholecaleiferol)

frfefaa & & #1891 1 ot 9maa &
fera van Hiftr i) ofrs 2 2

(1) AuEaida  (2) Whewafe
(3) fe=ia (4) wmEhE

(4)

qfefi s @ et 7% S

a1 FHaeh | A a9 FIEUss Bl |

25.

26.

27.

28.

29,

30.

6

@

ioh ' the following
gz:ac_j};olite;) fis not directly related
to urea cycle ?
(1) Citrulline
(3) Arginine
Which of the following pairs
represent esgential fatty acids ?
(1) Linoleic and linolenic
(2) Stearic and oleic
(3) Palmitic and stearic
(4) Linoleic and palmitic

Function of HDL (High Density
Lipoprotein) i8 1
(1) Transport of cholesterol from '
liver to peripheral tissue
Transport of cholesterol from
peripheral tissues to liver
Transport of triglycerides from
adipose tissue to intestine
Transport of triglycerides from
intestine to adipose tissue

(2) Alanine
(4) Ornithine

(3)
4)

Niacin deficiency causes :
(1) Anemia (2) Pellagra
(3) Scurvy (4) Beriberi

The active form of Vitamin D is
(1) 25-hydroxy cholecalciferol
(2) Calcitriol

(3) Ergocalciferol

(4) Cholecalciferol

Which among the following is a
limiting amino acid in wheat and
rice ?
(1) Methionine
(2) Phenylalanine
(8) Tryptophan
(4) Lysine



32.

33,

WA
A

34.

. T pERS FH e (awm

wftem),
AR T FH 3k wiae T :m‘m
foran T 2, % e #f Pt i
foreeh smavwa A1 2 ¢
(1)  sefNehes
(2) =g
(3) T[S T
(4) T Ry
Lathyrism 9m® sfimrf 39 safeaat o
ot et & St sf wE # Lathyrus
Sativus (Qa{ Z161) 1 399 F9 § |
Lathyrus Sativus o 3IufeE fwma
Pra o i
(1) fafEs (Viein)
(2) WA RS (Monoamine
oxidase)
e srfaufad 3l vefE (Beta
oxalye amino alanine)
(4) wEgZEEES fEs (Hydrocyanic acid)
Hicm-A 6 val ® Hiau-B § & 1
wel ¥ gafeaa Hifw s o gasmt w1
94 Fiforu ;

HeH-A Hiaq-B
a, UEhHide TS . Uhaifaage
b. vwrérr ii. mm
c. aAfaRe iii, gt

(Emulgifier)
TRARTES

(3)

(Lecithin)
v,
a b c
@)y a v il
(2) 11 11 1
8 1 v ii
4) 1 i
frafafea & 9 aﬂq d] HUAEH-A"
qaratyes &1 g Ted & 7
(1) wfm wfm -
artad et frgam
(2) tngf@ma WORZ — ZiEuEEYH

(3) a@mﬁa-mmﬁw
(4) vrfEEger wiehe — SATeTEH
freaer wfafmm

31,

32.

33.

Which among the following 18
required in the production of
High-fructose corn syrup-a liquid
gweetener commonly used In
candies and soft drinks ?

(1) Aminopeptidase

(2) Lipase

(3) Glucose isomerase

(4) Glucose oxidase

Lathyrism 1s seen in persons

consuming large quantities of
lathyrus sativus (Khesari Dal).
The toxic component present in
lathyrus sativus is —

(1) Viein

(2) Monoamine oxidase

(3) Beta oxalyl amino alanine
(4) Hydrocyanic acid

Match the items of Column-A
with those given in Column-B

and select the correct
combinations :

Column-A Column-B
a. Ascorbic acid 1. Antioxidant

b. Aspartame 1. Dipeptide

c. Lecithin 1. Emulsifier
iv. Tripeptide

_ & . b o

(1) 1 iv. 1m

(2) . il i

By e ive Al

YIS ol L

Which of the following

combinations of coenzyme -

biochemical function is wrong ?

(1) Flavin adenine Dinucleotide —
Oxidation reduction reaction

(2) Pyridoxal  phosphate

e T?ansammat.lon reactmn:

(4)




36.

37.

38.

39.

" ol et e fae A,

et 1 8w AT %1 =

FataE geagz & fou g

A TEA R |

Kmmvm“ﬁmgl

saiF weEzE % fou wEATE

A A#T TEd 2 |

Km qg S 2 E e Vmaz

safrafda war 2 |

1) GG (@ G A 6E)

@) (Gi)sGi) @) @) A aGy)

TR OfE F A A A A A 8

(1) =mFEFE 100-5000 34 (Bases)
ki

(2) wmrEay fome BU2E (Single
stranded) Bd 7 |

(3) @n gt (Alkali Resistant)

(4) @I BEEIETE (cytoplasm) A
I A2 |

o fasmanazt o famm e

() gHFETTeE ad SHE ST FAA
a1 gEasa

(ii) m,aﬁm,wm

(i) ke & S B G FFH FAE |

(iv) AT Fehm ver #a 2 |

(6)

(i1)

(i)

(iv)

# & Sfrei # gt ferdand TRt Seft
g7 |
(1) e (@) demEm |
(3) fouma (4) FF%

e tes e (RN Tk C A Al
(1) e T TR A
(9) | Aol HITERIAT

(3) vt w@lig Ha HEEA]
(4) O TATER HIHIAT
ﬁ“ﬁmﬁmﬁmmm% |
tarEET # ata F 2, fma i
e (TR Ed 2 7

1) w2 TR
(3) HehEH (4) Hra

35.

36.

370

38.

39.

Among the following eelect the

correct statements © |
In reversible competitive enzyme

inhibition _
(i) The inhibitor bears structural
regemblance to substrate.

Gi) Both K, and

increased.

The inhibitor does not bear
atructural resemblance 1o
substrate.

Ky 18 increased whereas
V max TEMAINS unchanged.

(1) G@)and(Gi) (2 (iii) and (iv)
(3) (i) and (i) (4) @) and (iv)

What is nof about
Ribonucleic Acid ?

max are

(iii)

(iv)

true

(1) wusually 100-5000 bases
(2) Generally single stranded
(3) Alkali resistant

(4) Mainly seen in cytoplasm

.

(i) Eukaryotic Photo

~ gynthetic mic robes

(i) Unicellular; multicellular
colonial

(iii) Reproduces asexually and
sexually

(iv) Have oxygenic photosynthesis
Organism which have above
characteristics is

(1) Algae (2) Protozoa
(3) Viruses (4) Fungi
Epithelium of Bronchioles
comprises of :

(1) Pseudostratified columnar cells
(2) Simple squamous cells

(3) Pseudostratified sensory cells
(4) Simple cuboidal cells

Which heavy metal toxicity
b B e home
ioesc Susine sy oo




40.

41.

42.

43.

44.

45.

aE T S § ufen o

WWWW |

I % 7o yfafEa B WiE = owg

SR

(1) 50007Pm () 100 77

(3) 500 T (4) 1000 o

et w

9

HTE 1 Hefd - B

(1) wifégremafes

(2) UgEs adgifes ww

(3) =R

(4) HifERS B

ffae o F I ofEm dqa 5

afFgam F Tfua w4 2

(1) Aeifrm smga e A 4

(2) I - WA SieeE

(3) dhemEss - G Uf#ed &

(4) Ffeagg 7@

fr= 4 @ fpm 2R +1 9@ aEE

(1) " (2) =iz

(3) TEitA  (4) wfeR

(1) fewata  (2) wFE

(3) ugHA (4) WrERIE

gn%lfaaﬁﬂammﬂamﬁﬁq_@

2

(1) Toda 59 4 weg = 2, 998
faer # wrdt # e fafe |
F AR TEAE | |

(2) %ﬁs%ﬁaammﬁml
A2 |

(3) aaigawﬂaﬁzfﬁsi’iﬁml
duggFa e | .

(1) fofrzETEEm A TR |

=2

40.

41.

42.

44.

Inside the Red Blood cells 47
enzyme  carbonic  anhydra#¢
catalyses and accelerates the
reaction between carbon dioxide
and water to

(1) 5000fold (2) 100 fold
(3) 500fold  (4) 1000 fold

A polypeptide hormone
synthesized from cells of heart
atrium that inhibits secretion of
renin are aldosterone is

(1) cardiodilatin

(2) atrial natriuretic factor

(3) Angiotensin

(4) corticotropic factor

The active site on the normal
actin filament of the relaxed
muscle are inhibited by the

(1) Magnesium ions and ATP

(2) Troponin-Tropomyosin complex
(3) Polymerised-G actin molecule
(4) Calcium ions

The delta cells of pancreas
secretes which of these hormone 7
(1) Glucagon

(3) Aldosterone

The Leydig cells found in human
body are the secretory source of

(1) Calcitonin (2) Glucagon
(3) Androgens (4) Progesterone

. Which one of the following is

NOT a function of bile ?
(1) helps in forming micelles,
which keep water insoluble

@ Beweg

__3!!




46, Deficiency of which of these
n]unctwms s

vitamins causes €O .

N R = e

keratitis and increases gengitivity =
to light ? | e
@ fafE B, (3) Vitamin By (4) Vitamin A @ 'i .'
@ fafa A 47. gonaldermg two variables X and' - 3{
et Sl i s e |
i ks 20X, B by TORET: (1) 8213 (2) 6.355 |
(1) -~ 8219 (2) 6.355 @) 0 : '
(3) 0.929 (4) 7.284 ) 0.929 (4) 7.284

48. Bfafes § @ ¥9 W M TER 48. Which of the following plants can
be used as indicators of sulphur

< :
3(;5)31(33&3 RO 1 Heha 8 ? dioxide pollution in air ?
g RHa1Ed (1) Hornworts
5 ﬁdﬁmlsih SIS 4 (2) Epiphytic Lichens
(4 fords e

3 o che 4 g@ Liverworts
ﬂ‘aﬁﬁ‘-ﬁﬁu) . HIHEAH B ? [ji 4;9. gggpenkey agar is a type of :
i FHAUHD 1 Sy _z_“ﬁDlﬁ'erentlal med.mm
(3) TAATHS  AHS QI
(4) TIATHS .

50. &g = (gene) i‘-i'l __
i g TEew (ata) o ﬁar
fapu S ERd & ?

(1) AR S

(2) Afaea s diligd et
(3) R (2) Lecti
@) & A A

51 H-wEE ® oA e |
ﬂﬁlﬁ%:




52.

53.

54.

55.

56.

00

I x 31 y R = 4, x W faw

= 4 3l y w1 R = 16 R, @ vl y

¥ o9 wE-FEy wE A

CL) 2 0.5

(3) 0.26 @ 1.5

it famor s, R iy SR m i ¢

(1) e < wer > s

(2) W < e < s

(3) TEE = e = Y

(4) WA > WEEH > YRS

fr=a ¥ i 3omi & & #8 w@

Al EE AT R ? '

(1) wE faeed

(2) R

(3) 3iga fa=ed f

(4) v =1 T ;_‘

frefrfar i A PR M FA TR R ?

(1) el w1 I e S SR

(2) i 1 IR Hh Fa I H

(3) i w1 I F e I R |

(4) i 1 ITE HEH S ITE £l
2t I7ER (i RREH) wa R |

5 T ITed T ol S 6 gl

AmR:

A A B. s

=7 QB e e A R 2
1) AwWC @ CwWD
(3 BWD (&) AT

i &

e 1E

]
-
T

]' -

62.

53.

54.

| B5.

®)

56.

If Covyy = 4, Var, = 4 and Vary ©

16, the correlation between x ant
y equals to

M 1 @ 05

@) 0.26 @ 15

In a perfectly gymmotrical
distribution, which of the

following relation holds true ?
(1) Mean < Median > Mode
(2) Mean <Median < Mode
Mean = Median = Mode
(4) Mean> Median > Mode

Which of the following measures
of variation 18 independent of the
unit of measurement ?
(@0) Standard Deviation
(2) Standard Error

Mean Deviation
(4) Coefficient of Variation

Which of the following statement

is correct ?

Bioremediation using plants
is called bio attenuation.
Bioremediation using plants
is called phytoremediation.
Bimgm‘ﬁdiuﬁinn. using plants
is called Biostimulation.
Bioremediation using plants

(1)
2)

(4)

List of some cloned plants di
resistance genes is given :
A. Pto P "!'-
BTy
& of
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57.

58.

59.

60.

61.

62.

maaiﬁ'imiﬂhmm%wﬁm

AT 7
(1) HEWg (2) TIeIH

(3) fermmawewm (4) ERAMO
T T .62 e Ee R R 7

(1) e 2) I
(3) #n (4) e
1 e ) STHTE ) HE € 7
(1) wEaEaE (2 LR IERT

3) IEafEe (4) FTHEEE

qofefs @UAER W AR W T
(eed) wEe § TR A

(1) w=bm
(3) wgH

s % wgyy de @ IO ER A

HrATEsHTE e B A AT & —

(1) feq (FHe) JeEd

(2) wrsfem gema

(3) o HEEa

(4) 3o e

g1 @ g1 @ giferm it A

gfrdt 3 9 feg T e 1w HEE

Sﬁtﬁﬁfl:
I 11

a, MRmEedd i [ d

b, FEMNEETE il RECIge

4. afedred iy, T ATELEH

b
jie Ziy TR
(@ i i i v
- :

|

A

57. Which State of India has the

Jargest position of barren land in

India ?
1) Maharashtra
(2) Rajasthan
(3) Himachal Pradesh
(4) Haryana

58. RMG-62 is variety of which crop ?

(1) Moth bean (2) Urd bean
_43) Moong bean (4) Cowpea

59. The type of germination in green

gram is :
(1) Hypogeal (2) Hypoepigeal
(3) Epihypogeal (4) Epigeal

60. Parasitic weed associated with

mustard is
(1) Striga (2) Cuscuta
(3) Loranthus (4) Orobanche

Nucellar seedlings arising from
poly embryonic seeds of mango
.are considered as
(1) Clonal root-stock

(2) Seedlings root-stock

(3) Dwarfing root-stock

(4) Vigorous root-stock

62. Match List-I with List-II and

select the correct answer using

codes given below the lists :
List-I List-II
a. Meristem i. Haploid
culture Plants

b. Cryopreservation ii. Haberlandt
c. Pollen culture iii.Virus free

plants
d. Totipotency iv. Liquid
(1) ii i _i . .: -
@ i iil i
@ iv.
(4) i v



63, O 2
TML(W) LR
(3) 0L RN ,68. The ol
) 0.05 w2 @ 0.01 damascer _present |
64. I ) st A1) 0. o in Ros#
HEA O.GW 0.1%
a0 % @ osw
@) fd @ % g4. Which is hi 0.5%
wierat : gh sal
65. ZHTECH aH @) ‘g) Sugarbeet t?(;?lerant 0
(1) I P mgﬂzzmm ) Chilli : (4) Beans .
(2) SlEcopiicl LE 65. Buck eye rot dis Edomato
l;miqu’m‘ caused b ] ease of
(3) CASIC gD (1) Phyy;; S tomato is
@ frefft (2) Phytophthgrg. ly_'mPEI'sici
66. TSI 8) Ph ra colocasi
(1) m 3 5 T ) thphth"m CHifoatens
(2) R 1 fafesren k 66. G VIR hianas
. Moo : . reen ear diseas C ae
i @ ﬁﬁﬂpﬂﬂm Eg;lse#y S
| o s 2) i el
o lam e A £
(1) Gﬂ' ﬂq—:“':[ amm ‘g fﬁz 67 ). SCIerosp'ora ;c;rg]‘:li.
(2) gﬁmw t . Flint corn is ninicola
3) LGl India is alsc commonly
3) ot v A ) T
) Z S
(4) S e E2 : ea Mays Inq
68 I-i!_[ m J Eg; Zea M ays Ellvdurata
: e rt
(MYMV)Eﬁ it At A® O T e Sacearat
(1 FAEAR amw | 68 = a Mays Inds »
) arftefiar et AR ?. T Which of ntata
(2) AT vector oof the following is
o Mo e L S Yellow
69. 30 ok B M T
- ZHTEA %1 aE{a ' (3) En‘:lg urothrips distali
(1) wgiysE AR M) possca L
9) wTEHERREHA eieH S F JI,69- B LvorA
4 dferfeam e AT & Lo var.
) CASRINIER ) 3!1fo rmae




70, Ff fE anels wew # e
frar g T AT B 7

(1) s H FgEaE ofive

) T FHY vt

(3) N AV e Hra IEA

(4) Wt Tta Y et fardoE @9
i stenta s ) v HTEvEH 96 &
®q 1 it fargr wrar @ 2

(1) ¥ fagzm 32w, 1983

(2) 8t +ify, 1988

(38) 9 fa=m, 2004

(4) e sAfufram, 1966

(817

20 Teud AT 2019 F AR,
T | e TTaEH1 fohal & 7

(1) 106.26 9@ (2) 146.23 @@
(3) 13346«@ (4) 193.46 @@

14 € g we gr 1o areft B R 7
(1) @ (2) et

(3) wmaETEl (4) 31T

T5¢ § 9 % g e vad o e
TS %% 51 91 I 8 7

(1 3 (2) =w

@3 @ 4) 33
FAE T2 A Y F A F gy
T TS SIS 1 AHG F R 7
(1) greafyE i

(2) et YT T

(3) UftFer wiuTEE sREeTEE

(4) e Ui

72.

73.

74.

75.

70.

71.

2:

73,

74,

(8) 183.46Lac (4) 193.46 Lac :

. Karnal bunt disease of wheat

Support prices of Ag:icultuial
commodities are recommended by

(1) Indian Council of Agricultural
Research . s

(2) State Agricultural Umv-r_ersmes

(8) Commission for Agricultural

' Costs and Prices -

National Agricultural (
operative Marketing

Federation of India Ltd.

(4)

Seed is declared as an essential
commodity under

(1) Seed Control Order, 1983

(2) New Seed Policy, 1988

(8) Seed Bill, 2004

(4) Seed Act, 1966

As per 20t Live Stock Census
2019, poultry population in
Rajasthan is

(1) 106.26 Lac (2) 146.23 Lac

Black colour face is the
characteristic feature of which i
sheep breed ?
(1) Sonadi
@ | Mitwari

At the time of birth how many
temporary incisors teeth appear
on lower jaw of a calf ?

(1) Six '(2) Four

@.I Two (4) Eight

(2) Nali
(4) Magra

gives foul smell in the field due to
presence of volatile compound

(1) Trimethyl amine

(2)  Diallyl propyl sulphide
(3) Allyl propyl disulphide
(4) Tetramethyl amine



79. it T % anfeh wa § F9 A

80.

81.

83.

Tt AR Thataf FfEE 2 7
(1) A 6 9 A FEE A

(2.) wﬂ'gﬂgﬂm;

(3) mﬁﬁ%ﬂﬁmml

(4) T ) e & FrE 9 d G

79.

What is  most important
management activity required for
advance pregnant cows ?

(1) Clean the cows with water

(2) Keep cows in herd

(3) Only concentrate feeding to

COWS
(4) Separate cows in calving pen

frfofaa & =9 T v @@ | . . -
79 IR AR 7 {/80). Which one of the following is not
1w 9 o 7 ?1])'&10;1?:;9(1 mﬂkérodgz’i ?b'am
e abjamun
(3) === (4) FAFS /@ Sandesh  (4) Kalakand
%‘Zﬂmq (2006) F d&a H9 TG B1. According to F.S.S.A. (2006), the
£ § #9 & 9 feadt @ T4 minimum fat contain in Low Fat
1 =y 7 2 (Clliem;oi/hould be S
(1) 80% 2 25% _ (3) 99% {4) 10,,/:
()= @ 10% 82, Which one of the followi
f iz smis o) ne ollowln
. TFEA % gy B Frefafed s9E 9 8 statement is not correct :
Pr e EA R 7 malkkhan ? e
gl 9 78-81 Ffawra @@ A 2 | @) g‘ contains 78-81 percent
i) wwiors03fmmah mt b |
@) = 0.2 9 2 _ o s 01-1.50 percent
A B 2 | {3) It contains more than 0.2
(4) zEH 18-20 Fiewa 74 #eft 2 | L i’f"’“‘."‘ lactic acid.
s #q 7 g (W) @ ok Haer 4 Ygult? Cntgs G540 percent
v 1 vt 5w BT | 83, Which one of
#f i weh TA TE R 7 - - ml::g one of t‘li:e following is not
(1) ¥FFV  "EA = 2000-3000 | characmmticamOE: din seinial
(fuferam gfe sheep in si e g Mdlein
| heep in single ejaculate ?
UH.UA.) I (1) Sperm =
@ waF e d = concentration
1636 | ollon
b1y (farferam) | @ Spermn per ml)
. per =
(3) hafrer M = 60-80 | ejaculate =
e i) | (billion)
: (4)@'%'“ qEr = 5-8 = (3) g‘gﬁlﬂ sperm =
Volume (ml) ; q
16
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I d
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e
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84.

85.

86.

87.

88.

89.

4 2 20 o ) e g o 7

| . In which co
(1) M (2) - olx";gmate BRSD/-= AN W
(3 Fmgx @) e (1) India (2)  China
o s |, O S N5
85. Atwha

SRR AR GRS (2008) 3 | to add Butylated ;é'drmcyl Ani:olo
Maﬂugmmﬂm (BHA) to prevent dationofl‘atm
a whole milk powder by weight of
(N.0=.0) T IR &9 B AR w | finished product ?
freTa ) IgRfA TR AR ¢ | 1) 0.02% @ 1.6%
(1) 0.02% 2 1.5% @ 0.01% (4) 0.06%
@) 0. 019;’ 3 ﬂﬁq“) 0.06% - B6. ;Nhich of thtat {ollowi&% ui:eration
frefafea N AR e nereages e 8
et v, Sk e g, i s e s
WWWMt? ' (1) Pasteurization

BINEtE T _ (2) Homogenisation
:3 I ELCHE i | £8) Preservation

- (49 Sterilization

When the Rajasthan Agro-
Agri.-Business &

. Export Promotion Policy -
19 was notlﬁed ?

(1) 12 June, 2019
2) 12th September, 2019
(3) 12t December, 2019
(4*) 12th March, 2019

.Hgs.- Which of the following activi

refers to_the removal § prny

* | ‘and foreig from guita 3]
= mhﬂ'vegetd les ?' |‘. _

fi-2019%g |  Processing,
sifvrgfea i o ot 7 & | W
(1) 1274, 2019 ;

(2) 12 faasw, 2019 1
(3) 12 feEsy, 2019
(4) 12974, 2019 5 B

b (2 Bleadine |
) @ (4) Sulphg{:hon : :
w3 7 2021-22 % IAEA S HAwgH N sy il

¥ gaa § HH | U I A6

2 foa wiwsi A w@ AER 7

(1) "wEIarEd = 19.29

(3) FA IGTEH = 1 M |

i

(4) 79 3IATE
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saéwﬁmwﬂmmm
LU 20 (2) 30

@ 60 4 10
mﬂmmﬁ!ﬂﬂtﬂﬁ
I R 7

1) so0ddEE  (2) 1800

@) 2000 ¥fiew (4) IW“T

g7, wru vl R erd aiffivan Pt
13 g v R 2
A, vorehfess sififean
R, du vErafys s
C. ueinih srfvfien
D, N-uefid affien
ﬁ%&nwwmmmmw
w 7
(1) A3kD
3 B3RD
98, w9 1, ude W TEW WX
1 10 % I T
FERE AR |
wus 2, ude 2 T
FOTAR |
$4T 3. mhmﬂmm
TEfsmaRl
(1) mmlmzmil
) FEE YT 1 ANITFARI
@) w1, 2dnam§‘§l
98.

95, Sugar may crystallize out from
jam if the percent of invert sugar

less than
4 @ 30

(1) 20
(3) 50 4) 10

96, Commercially concentrated juices
are preserved with sulphur

d:o:ude of
(2) 1500 ppm

A00 ppm
) 2000 ppul (4) 100 ppm

Mnillnrd reaction in the foods is a
reaction of following kind

A.  Enzymatic reaction

B. Biochemical reaction

C. FElementary reaction

D. Non-elementary reaction
Select the correct answer using

the codes given below :
(1) AandD (2) OnlyD
@3 BandD (4 OnlyA

8. Statement 1. Thermal death
time is the time required to
reduce the number of
mxcm-orgamnms by the
E fa&toi: Qi 10 in a thermal

mducmm




100, Frerferfiaa sttt/ &1 I

}00. Match the fgllowing act/laws with
oA s their year of inception :
Fad A : Preeve}:;tion of Food
@ st fEre Afufa Adulteration Act (PFA)  — 1937
i ts Order
$ T%H ) o — 1987 f‘Fl";g)Produc g Or e
; (%% ). = e %ricultural Produce
FN 399 (A R AR (Grading and Marketing)
it (wmmh) _ 1955 ;iqt (AG%/IARK) oS ~ 1955
PFA’1937) 2 ’
(1) tuwu-1937, T 9t H1-1954, ) B IARK. 1955
CTHTe:- 1955 (2) PFA-1955, FPO-1954,
(2) fuwu-1955, T bt 31-1954, AGMARK-1937
wTHTE- 1937 (3) PFA-1954, FPO-1955,
@) 0w u1954, vh T 31955 AGMARK-1937
. ] (4) PFA-1954, FPO-1937,
TTHTh- 1937 AGMARK-1955

4) HRuwT ot 3-
(4) WMTHT-1954, T 1937, 101, According to CODEX Standards,

wHTH-1955 which of the following is food
101. FIZF FFH  IJER A G G@E ellerach
i (1) Fruits (2) Vegetables
LSEIEICH A3) Fruit juices (4) Cereals
(1) & (2) T

102. Statement 1 : Aseptic packages

(3) ®wAIWE (4 IS should be stored in

102. 9 1 : A2 dbs &1 Mperiet 4 T  refrigerator.
P Statement 2 : Only liqud
products are packed by
FYA 2 : Wt ¥ ° fad ata 3mg aseptic packaging.
# A frama £ | (1) Both the statements are false.

(2) Both the statements are true.

(1) oW HY ITAE |
_A£8) Statement-1 1is false, but

(2) TAFITTEAAR | | Statement-2 is true.
(3) -1 3G &, A FH-2FAR | | (4) Statement-1 is true but
(4) woA-1 T B, A -2 S | Statement-2 is false.
21 |/103. Match the following vegetables
303, Fraffen a1 T TR | e et
iy ) .w-(ir%rhc, Moderate-Carrot,
-Peas
A1) FE-TEg, gem-Te, - @ Low-Carrot, Moderate-Garlic,

(2) FrA-TTeR, qeH-Egd, sE-na
(8) fr=-oTegd, weam-we, I -
(4) f=-7, voE-T, ST -y

(3) Low-Garlic, =
High-Carrat Moderate-Peas,

R

o — — — —— — —

(4) L_o'w'.-Pf'e.és, M o g, P
High-Garlic oderate Carrot, P



106 § 5 F

Q) AdRDE

104. Which of the following can be
usedawaneth_vlenemvengerm
sctive

(1) Magnesium oxide
(@ Calcium oxide

(3) Potassium permsngsnate
(4) Ferrous s oxade

1aonwmanhefenomnss,m
mmof&ermeanon gases in

A l\*penfphsﬂcs

B. Thickness of plastics
C. Concentration of gas
D. Tempersture of gas
(1) OnlvonA BandD
@ OnlyonB,CandD
(3 OnA B CandD
(4 Onb*anA,BandC

that food is

= m say
; ‘é@ ¢ e amowe i B adultarabedy?lundarthePFAM?

A. Iht:sobmnedﬁomdmamad







113.1“:\1:11%1%313%@:@@
Nk ﬂ*\!ﬁ@(

(iv) wwaﬁmmwﬁ
R

(1) (i) @ Gv)

@ @), G, (i) @ Gv)
(3) (), (i)W (iv)

(i), (i) T Gv)

114,

115.

m"fthe‘}“ﬂarf’mhhar style of

tenqﬂe_ chi -

@ Sanuuﬂnﬁhwnr temple  of
(nuﬁnrlhmt
Goﬂihﬁnuﬂgd

(iii) Someshwar  temple of
Iﬁma&u
Jhgat

130633- A

. (I)E (i:i)and(iv)




' 116. w8 ¥ St fhw qq 9@ * =Y

M=, swadt, geae frgme 3 onfd &
A E 7

(1) =rof
(3) TravraEe

(2) THAAT
(4) W=t

117, W&fi-1 %1 g=ht-11 & @ fem i
3 gfeat % A9 o ™ 5 w1 owEm
T i IR 1 94 HIf -

gt -1 g - 11
(Fh 2  (HE F)
(@) el (1) T
(b) wopht (i) wvSen
() uresft (i) <gtEr
(d) TSt (iv) e
L T4

(a)

(i)

(iii)

(iv)

(ii)

b) @ (@
(1) (i) (iv)
() @) @v)
(1) (1) (i)
@) @Gv) (Gu)

(1)
(2)
(3)
(4)

118. UM & @ o 29ar I a9 yaht
<1 SN & Ar-grern o) e o 7

(1) wefAest (2) e
3) wopstt (4) reh

119. g | Arerh 6 wfem & 8 e 3
[GESREEEECR FEAATR |
(1) T (2) awEHmEr
(3) oA-THAN HUT (4) fomard

I
|
|
l
I
l
l
|
l
|
|
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116. With

117.

118.
?

119.

the accompaniment of

which stringed instrument do the

jogis sing Khayal like Gopichand,
hartari, Sultan Nihal De ete., in

the desert region ?

(1) Sarangi

(2) Ektara

(3) Rawanhattha

(4) Jantar

Match List — I with List — IT and
find the correct answer by
choosing the codes given below

the lists : |

List - I List — IT
(Folk Deities) (Main Centre)
(a) Kallaji (1) Bengati
(b) Harbhuji (i) Runidela
(¢) Pabuji (iii) Dadreva,
(d) Gogaji (iv) Kolu
Codes :

@ ® © @ fr

(1) @ Gi) (Gi) (Qv)
(2) (i) () @) (v)
() @(v) (@) (@) (i)
@ () @ Gv) (i)

Which folk God of Rajasthan took
initiation in Yoga Sadhana
(religion) with the inspirati

his wife ? -
(1) Mallinathji (2) Ramdevii
(3) Harbhuji '(4) Pabuj;w]

The p&inted curtain P oS
deco_rittion behind the idzfzg SI?I:
(1) Ragmala e
(2) Barahamasa P

(8) Nal-Damyanti Katha
(0 “Blehwair . ke



. arhel auT 8w & frew @ 9 T
AR, R -
(1) wrETyd 72
(2) gt 7H
(3) =™ 7
~(4) e
125. g1 %t gefi-11 & gafea Hifve sk
HE I F1 977 9 2 e & Hifdr
-1 gt - I
(i) (Rret)
(a) FFerE
(b) TSR
(c) areTaETE
(d) w=gen
L T4
(@) (b)
(1) @) Gv) G) @)
(2) (1) @Gi) @Gv) @)
B) @Gv) @@ @) @)
(4) G1) Gv) ) @Gi)
126. ffafas & & #9 @1 fyen =Eam
Frer anffes a9t S wtan & 7
(1) @ (2) AR
3) Feemm (1) mEw

127. IEAGC A1 et Foreit i srferepiora: & -

(1) =49 4t g1
(2) ved g

(3) G
(4) e 71 g

128. I HI Yeid A Geiefta & 3 7 2 7
(1) IR 9ETe
(2) THUAT HTH
(38) T
(4) TSI T

(iii) @TEHT
(iv) 9%

(© (d)

26

124, The combined channel of Wakal
and Sei is known as

(1) River Sabarmati

(2) River Parwati

(3) River Banas

(4) River Mahi

Match List — I with List — IT and

select the correct answer using
codes given below :

125.

List -1 List - II
(Lakes) (Districts)
(a) Navlakha (i) Dholpur
(b) Talchhapar (ii) Bundi
(c) Talabshahi (iii) Barmer
(d) Pachpadra (iv) Churu

Codes :

@ () @© @
(1) (i) @Gv) G @)
(@) G @) Gv) @)
(3 Gv) () @Gi) (i)
(4) (i) @Gv) (@) (i)

126. Which among the following
- districts receives lowest annual

average rainfall ?

(1) Dausa (2) Nagaur

(3)  Chittorgarh (4) Udaipur

Udaipur and Kota districts has

largely

(1)  Brown soil of recent origin

(2) Hilly soil

(3) Red loam

(4) Calci brown soil

Which mountain is not located in

Jalore mountain area ?

(1) dJhalora Pahad

(2) Israna Bhakar

(3) Gogunda

(4)  Roja Bhakar

127.

128.




129. &l it 3 8 FH wfen s 129, According to census 2011, which

T 2011 ¥ IEn, fr 8§ pair of districts, occupies the first
5 Fou AR AR R 7 | and the last place in terms of
s ﬁmﬁ?ﬁ £ ) female literacy rate in Rajasthan ?

(1) HI2— SR (2)  HIT — et (1) Kota- Jalo:;i
— fertrdlt - e | (2) Kota — Jaisalmer

SRR i (3; Jaipur — Sirohi

2002-2003 ¥, THH T & % (4) Jaipur— Alwar

130. §1 _
C 31 T T Rt Oifta 130. In the year 2002-2003, how many
g ] 2 ) districts of Rajasthan were
el declared as drought effected
(1) 15 (2 32 districts ?
3 18 (4) 20 (1) 15 (2) 32
S(3) 18 4) 20
31, 5 fas, T % wemaR SREEE | 181. As per Administrative Report 2022,
2022 % aem, Prefafea # @ fem | of Forest Department, Rejasthan,
Pl % WYE W 2019-2021 % #iE which group of districts recorded
shmE (%) A ety | maximum rate of degradation (in %)
| in Forest cover during 2019-2021 ?
(1) e ITEEEE | () Karauliand Bharatpur
(2) it o W (2) Sirohi and Bharatpur
(3) FATAT AT FlIA . _ (3) Jalore and Karauli
(4) P T SR y —«(4) Sirohi and Jalore

139, T 2 FEEE Tt wdwem | 182.1n which year, ‘Rajasthan State
| Bk Environment Policy’ was first

fom ad e AL IR AL 7 1 T

| | 18 enacted ?

(1) 2016 (2) 2010 l @ 2016 (2) 2010
(3) 2014 (4) 2011 (3 2014 (4) 2011

133, % T, TR % SR wiaga | 133, Select the group of districts

20293 39 foreft % wmg # having forest cover above 10% of
== : GIETEH:ZOZI > ¥ t geographical area (2021
it - il‘ia” ¥ 10% ae?m‘nent). as ~ per
;TEH“ a;‘;tl " e i« Administrative Report 2022-23,
AfH - of Forest Department, Rajasthan.
(1) T, B, SR (1) Rajsamand, Karauli, Dholpur
@ afgaTsT, S, A | (@ Banswara, Bharatpur, Dausa
(3) e, sfrevaeT, A | @ PaliBhilwara, Ajmer

(4) HiE, AR, FAES | @ sikar, Jalore, Jhalawar i

.




139. 13 @ 14 ard, 2023 1 few wH T

WWWWWW
A An v

(1) X (@ e

@) AR (4) TR

140, ¥, 2021 F, e is # 9iE 8000-HI
- foradl X =g el wYH F THAA
ﬂﬂ?ﬂﬂ‘g:

(1) wawIEd (2 apsfom fan
(3) ST ATATE (4) TS B

141, =€ 2023 ﬁ,m%mi‘maﬁé

St |z 2023° % IgETRA AT | T
afire &1 HTASHA HET Ted1 T 4T ?

(1) w9 (2) At
3) qW@ (4) 78 feeeh

142.mun?a=rﬁmamwg}ﬁu’qﬁa
o o = ot Ee fo # -

(1) \rEm (aw), e (dug)

wHfaTg (MHierarsT)

(2) e (), ded (SuR) @
L itur ACICCIE)

(3) g (aw), WA (WU @@
(L EUEACIREIE)

(4) HRE (), g (FHET) o
gHiog (sfeans)

139. On 13th and 14th March, 2023,
Rajasthan Millets Conclave was
held at which place ?

(1) Udaipur

(2) Bikaner

(3) Jaipur

(4) Sri Ganganagar

Identify the first and only Indian
to climb five 8000 metre mountain
peaks in & single season in
March, 2021 :

(1) Santosh Yadav

(2) Arunima Sinha

(3) Premlata Agarwal

(4) Baljeet Kaur

140.

141. In March, 2023 Prime Minister of
India has inaugurated the ‘One
World TB Summit 2023’. Where
‘was this Summit organised ?

(1) Bhopal (2) Varanasi
(3) Surat (4) New Delhi

'142. The 3 new Wild life Conservation

recently declared by
(1) Sorsan (Baran), Khichan

(Jodhpur) &  Hamirgarh
(Bhilwara)

(2) Gajner (Bikaner), Khichan
(Jodhpur) &  Hamirgarh
(Bhilwara)

(3) ?th (Baran), Khichan
(Jodhpur) &  Hamirgarh
(Bhilwara) Hamirgarh

(4)




148, ¥ @ | wwelta g & uw sfd w®
fava @& & s & wq F wafa e
TR | I RTANR 7

(1) sfggem  (2) arsmaEm
(8) amwEm (4) e wm
fvw 2 3w sager & for ftrn

Mofve Jmalt &1 wl=eta 20230 6
Y AR 7

(1) wem ey
(2) fsht

3 Ry

(4) ¥4

144,

7641 favs wrRa gy ofim R .
(1)

1435.

SHEUE R S

T&Y U 31 : T AU B 37
(3) T=YTH W 76 : &Y BR AT
4) FTUFRIER

B e A Wi 3 R ik shefrh

T 3R o dann Rem e 6w

TEarh vEe, R w AR 7

(1) vafaw FFEuE 393 TR
&1 o 99 FA W |

(2) T vd yoem v S agen 3
R |

(8) TFA ¥ H INE TP & fow
FFHU ST TR H) w2 R |

(4) s s & fau fefves
FAHYA & forer o |

2)

146.

|  14_5.
Y W 3 W@ 75 Wt e, |

v

' 146.

tly a person of Indian origin
ik l?::el:leez chl:)osen as World Bank's
President. What is his name ?
(1) Arvind Banga
(2) Ajay Banga
(3) Arun Banga
(4) Amit Banga

Which country has hosted the
“Asia Pacific Leaders Conclave on

Malaria Elimination (2023)" ?
(1)
(2)
(3)
(4)

144,

Solomon Islands
Fiji
Singapore

India

The theme of the 76t World
Health Assembly is

(1) WHO at 75 : Saving lives,
driving health for all

WHO : Right to Health for all
WHO at 76 : Health for all
Health for the globe

(2
(3)
@
IMPRINT India Scheme a
collaborating nitiative of
Department of Science and
Technology and Ministry of
Human Resource Development in

India focuses on
(1) Funding

()]
@)

environment

research oriented projects. 1
Enhancing the print and |
publishing jes e

!anm_ | LAL 7
. F DEt A
= =k
OF1CAallY




R e L 147. In Oy, the bond order is

147. 0
1) 290 @ 1.5 ) 1) 20 @) 1.5
@ 25 @ 1.0 @3) 25 @) 1.0

148, s 3t 6 2 forert A St B, P | 148, The pH of a solution formed by

| . mixing equal volumes of two
pH A 6 3iv 4 B, ) o wrAT solutionsAandBofaatmnﬂ_ﬂcid

ﬁamﬂﬁaﬁﬁﬂ'ﬂ?mpﬂt(ﬁm having pH 6 and pH 4
respectively 18 (given log 5 is
R log 5, 0.699 ®) 0.699)

(1) less than 4

(2) between 4 and 5
(3) between 5 and 6
(4) greater than 6

(1) 43S @ 43msHAA
) 53 eHTA M) 6 & It

149. A 33X B # afufen 3, 99 A 'ﬁf 3 149. For a reaction between A and B,
e, B 6 T PR @, T | '

: when the concentration of A is
1 |  doubled while keeping
i rlt oncentration of B constant. On

_":__

@) 2% @) 1

150 7= A ¥ ToRUH WK 4 e T

e TR A TR aeE R L |

K g % e 75 a8 B i I A L
e e A TR |

(1) 1,000 (2) g (

(3) 21,500 &




S1.Ans.(4)

S2.Ans.(2)

S$3.Ans.(2)

S4. Ans.(2)

S5.Ans.(4)

$6. Ans.(3)

S7.Ans.(2)

$8. Ans.(2)

S9. Ans.(2)

$10. Ans.(1)
S$11. Ans.(1)
S12. Ans.(4)
$13. Ans.(1)
S$14. Ans.(3)
$15. Ans.(1)
$16. Ans.(1)
$17. Ans.(2)
$18. Ans.(3)
$19. Ans.(1)
$20. Ans.(1)
$21. Ans.(1)
$22. Ans.(1)
$23. Ans.(1)
S$24. Ans.(3)
$25. Ans.(2)
$26. Ans.(1)
$27. Ans.(2)
$28. Ans.(2)
$29. Ans.(2)
$30. Ans.(4)
$31. Ans.(3)
$32. Ans.(3)
$33. Ans.(4)

S$34. Ans.(4) doubtful

$35. Ans.(4)
$36. Ans.(4)
$37. Ans.(1)

Adda

RPSC FSO Answer Key

$38. Ans.(1)
$39. Ans.(4)
$40. Ans.(4)
S$41. Ans.(3)
S$42. Ans.(2)
S$43. Ans.(2)
S44. Ans.(3)
$45. Ans.(3)
$46. Ans.(4)
S$47. Ans.(c)
$48. Ans.(2)
$49. Ans.(3)
$50. Ans.(1)
S$51. Ans.(1)
$52. Ans.(2)
$53. Ans.(3)
S54. Ans.(4)
$55. Ans.(3)
$56. Ans.(2)
$57. Ans.(2)
$58. Ans.(3)
$59. Ans.(4)
$60. Ans.(4)
$61. Ans.(1)
$62. Ans.(4)
$63. Ans.(1)
S$64. Ans.(1)
$65. Ans.(4)
$66. Ans.(4)
S$S67. Ans.(4)
$68. Ans.(1)
$69. Ans.(4)
$70. Ans.(3)
S$71. Ans.(1)
S$72. Ans.(2)
$73. Ans.(3)

24

7

S74. Ans.(3/4) DOUBT

$75. Ans.(1)
$76. Ans.(4)
S$77.Ans.(1)
$78. Ans.(3)
$79. Ans.(4)
$80. Ans.(3)
$81. Ans.(2)
$82. Ans.(3)
$83. Ans.(4)
S$84. Ans.(1)
$85. Ans.(3)
$86. Ans.(2)

$87. Ans.(ERROR) 17 Dec 2019

$88. Ans.(2)
$89. Ans.(1)
$90. Ans.(1)
S91. Ans.(1)
$92. Ans.(3)
$93. Ans.(2)
S94. Ans.(4)
$95. Ans.(1)
$96. Ans.(2)
S97. Ans.(2)
$98. Ans.(4)
$99. Ans.(1)
$100. Ans.(3)
S$101. Ans.(4
$102. Ans.(3)
$103. Ans.(1)
$104. Ans.(3)
$105. Ans.(4)
$106. Ans.(2)
$107. Ans.(2)
$108. Ans.()
$109. Ans.(1)

$110. Ans.(4)/ doubt



